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d=r,=r, —%— (40— 21.3) = 280.8mm

I, =1,+Ad?=9.094x10" + 2x 207 x 280.8
=3.273x10" [mm*]

(= < < <)

=1t (1.18 )
l,, =1,0c08” @ +1,45in?O= (1, +3l,,)/4=(9.094+3x10.62) x10" /4 =10.239x10*
Ad? = 25207 (08X 3y 5 aag 107

|, =1, +Ad?=10.239x10* +2.448x10" = 2.458x10’ [mm*]

(= < < <)

=1t (1.18 )

L, =1,,c0520+1,,5in°0= (31, +1,,)/4 = (3x9.094 +10.62) x10* / 4 = 9.476 x 10"
280.8
2
|, =1, +Ad? =9.476x10* +8.161x10° = 8.256 x10°[mm*

Ad? =2x207 x( )? =8.161x10°



(= )
l,, =1, =10.62x10*[mm* |

(1.17)
|5 = 12t = 7 x300° x1=8.48x10" |mm* |

I,=21,+41,, +4l ,+21,, +1,

z

= 2x3.273x107 + 4x 2.458x107 + 4x8.256 x10° + 2x10.62x10* +8.48x 10
= 28.18x10" [mm* |

8
G = Moy = P10 300 _106.5N /mm?]=106.5MPa]
I, " 28.18x10
o,,., = —106.5MPa]



